CONFIDENTIAL

7311

Kansas Corporation Commission Oil & Gas Conservation Division

7/10/11

Form ACO-1 September 1999 Form Must Be Typed

ORIGINAL

Operator: License #	API No. 15 - 109-20636 - 70 0 0
Name: _Shakespeare Oil Company, Inc.	SOUNT LOGAN SW
Address: 202 West Main Street	Sec. 15 Twp. 14 S. R. 32 East West
City/State/Zip: Selem, IL 62881 CONFIDENTIAL	2590 feet from § / N (circle one) Line of Section
Purchaser: NCRA	980 feet from E / ((circle one) Line of Section
Operator Contact Person: Donald R. Williams	Footages Calculated from Nearest Outside Section Corner:
Phone: (618) 548-1585	(circle one) NE SE NW (SW)
Contractor: Name: HD Drilling, LLC	Lease Name: Ottley Well #: 2-15
License: 33935	Field Name: Chalk Buttes
Wellsite Geologist: Steve Davis	Producing Formation: Morrow, LKC "J"
Designate Type of Completion:	Elevation: Ground: 2738' Kelly Bushing: 2747'
New Well Re-Entry Workover	Total Depth: 4476' Plug Back Total Depth: 4418'
✓ OilSWDSIOWTemp. Abd.	Amount of Surface Pipe Set and Cemented at 224' Feet
Gas ENHR SIGW	Multiple Stage Cementing Collar Used?
Dry Other (Core, WSW, Expl., Cathodic, etc)	If yes, show depth set 2167 Feet
If Workover/Re-entry: Old Well Info as follows:	If Alternate II completion, cement circulated from 2167
Operator:	feet depth to surface
Weil Name:	
Original Comp. Date: Original Total Depth:	Drilling Fluid Management Plan 17 11 11 18 10 07
Deepening Re-perf Conv. to Enhr./SWD	(Data must be collected from the Reserve Pit)
	Chloride content 6500 ppm Fluid volume 2500 bbls
Plug Back Plug Back Total Depth	Dewatering method used evaporation
Commingled Docket No.	Location of fluid disposal if hauled offsite:
Dual Completion Docket No.	Operator Name:
Other (SWD or Enhr.?) Docket No	Lease Name: License No.:
6/10/09 6/22/09 7/03/09	Quarter Sec Twp S. R East _ West
Spud Date or Date Reached TD Completion Date or Recompletion Date	County: Docket No.:
	County: Docket No.:
Kansas 67202, within 120 days of the spud date, recompletion, workov Information of side two of this form will be held confidential for a period of	h the Kansas Corporation Commission, 130 S. Market - Room 2078, Wichita, ver or conversion of a well. Rule 82-3-130, 82-3-106 and 82-3-107 apply. 12 months if requested in writing and submitted with the form (see rule 82-3-s and geologist well report shall be attached with this form. ALL CEMENTING s. Submit CP-111 form with all temporarily abandoned wells.
herein are complete and correct to the best of my knowledge.	ate the oil and gas industry have been fully complied with and the statements
Signature: Donald R Willi	KCC Office Use ONLY
Title: Vice President Date: 7/10/09	Letter of Confidentiality Received
Subscribed and sworn to before me this 10th day of July	If Denied, Yes Date:
20.09	Wireline Log Received RECEIVED
$\triangle A \land \triangle \triangle A \land A $	FICIAL SEAL
MEL	ISSA A NOF! JUL 13 ZIV
Data Commission Expires: //-//) Notary F	Public, State of Illinois (
wy comin	nission Expires 11-06-11 KCC MICHI

Side Two

CONFIDENTIAL

JUL 1 0 2009

Operator Name: Sha	kespeare Oil Comp	any, Inc.		Lea:	se Name:	Ottley	- Kries	Well #: _ 2-1 :	5 	
Sec. 15 Twp. 1	4S. R. 32	Eas	t 🗸 West		nty: Logan		10/2/2			
INSTRUCTIONS: SI tested, time tool oper temperature, fluid rec Electric Wireline Log	n and closed, flowin covery, and flow rate	g and shut is if gas to	t-in pressures, surface test, a	whether long with	shut-in pre	ssure reached	static level, hydr	ostatic pressu	res, botto	m hole
Drill Stem Tests Take		⊘ Y	es 🗌 No		∑ L	og Formatio	on (Top), Depth	and Datum		Sample
Samples Sent to Geo	ological Survey	✓Y	es 🗌 No		Nam See (e Geological Repo	ort	Тор		Datum
Cores Taken Electric Log Run (Submit Copy)		\			333	Joological (10p)		REC	EIVED	
List All E. Logs Run:								JUL '	3 200	9
DIL/GR, CDL,	CNL, ML, , S	ONIC,	CBL/GR					KCC N	/ICHI	ΓA
		Repo	CASING		ت	w Used	lon, etc.			
Purpose of String	Size Hole Drilled		ze Casing t (In O.D.)		/elght s. / Ft.	Setting Depth	Type of Cement	# Sacks Used		and Percent additives
Surface	12 1/4"			23#		224'	Common	170	2% ge	, 3% CaCl
Production	7 7/8"	5 1/2"		15.5#		4470'	ASC	150	5#/sx Gils	sonite, 3/4% CFR
		1	ADDITIONAL	CEMEN	TING / SQL	JEEZE RECORD	·			
Purpose:	Depth Top Bottom	Туре	of Cement	#Sac	ks Used	s Used Type and Percent Additives				
✓ Protect Casing Plug Back TD Plug Off Zone	2167'-0'	Pozmix		350		65/35 w/ 8%	gel & 1/4#/sx fl	locele		
Shots Per Foot			RD - Bridge Plug Each Interval Per		ре		cture, Shot, Cemer		ord	Depth
4	Morrow	_				1000 gal 7.5%	MCA			4354-60, 4372-70
4	LKC "J"					250 gal 15% l	MCA			3971-79
					· · · · · · · · · · · · · · · · · · ·				.	
TUBING RECORD	Size 2 3/8*	Set At 4414'		Packe	r At	Liner Run	Yes 📝 N			
Date of First, Resumer 7/03/09	d Production, SWD or	Enhr.	Producing Met	hod	Flowin	g 🕢 Pumpi	ng Gas L	ift 📋 Ott	ner (Explair	1)
Estimated Production Per 24 Hours	OII 90	Bbls.	Gas	Mcf	Wate 0	er B	bls,	Gas-Oil Ratio		Gravity 34
Disposition of Gas	METHOD OF	COMPLETION	DN	<u></u>		Production Inter	val			
Vented Sold	✓ Used on Lease ibmit ACO-18.)		Open Hole	ify)	erf. 🔲 [Dually Comp.	Commingled			



(785) 483-5566

÷. . ,

CONFIDENTIAL

JUL 1 0 2009

K00

INVOICE

Invoice Number: 119096

Invoice Date: Jun 10, 2009

Page: 1

24 S. Lincoln Street P.O. Box 31 Russell, KS 67665-2906

Voice: (785) 483-3887

Bill To:

Fax:

Shakespeare Oil Co., Inc. 202 West Main St.

Salem, IL 62881

Well il

Customer ID	Well Name# or Customer P.O.	Payme	nt Terms` \
Shak	Ottley #2-15	Net 3	0 Days
Job Location	Camp Location	Service Date	Due Date
KS1-01	Oakley	Jun 10, 2009	7/10/09

Quantity	Item .	Description	Unit Price	Amount
170.00		Class A Common	15.45	2,626.50
3.00	MAT	Gei	20.80	62.40
6.00	MAT	Chloride	58.20	349.20
179.00	SER	Handling	2.40	429.60
20.00	SER	Mileage 179 sx @.10 per sk per mi	17.90	358.00
1.00	SER	Surface	1,018.00	1,018.00
20.00	SER	Mileage Pump Truck	7.00	140.00
1.00	EQP	Surface Plug	68.00	68.00
		JUN 1 9 20	RE JU	CEIVED L 1 3 2009 WICHITA

ALL PRICES ARE NET, PAYABLE 30 DAYS FOLLOWING DATE OF INVOICE. 1 1/2% CHARGED THEREAFTER. IF ACCOUNT IS CURRENT, TAKE DISCOUNT OF

\$ 101034

ONLY IF PAID ON OR BEFORE

ั^{*} , ปุนุเ 10; 2009

	Subtotal	5,051.70
f	Sales Tax	195.68
Ì	Total Invoice Amount	5,247.38
ļ	Payment/Credit Applied	
	TOTAL	5,247.38
,		

ALLIED CEMENTING CC., LLC. 044247

REMIT TO P.O. BOX 31 RUSSELL, KANSAS 67665	JUL 1 0 2009 SERV	VICE POINT:
	KOQ	
6-10-09 SEC. TWP. RANGE 27 /35 32ω	CALLED OUT ON LOCATION	
EASE WELL# 2-15 LOCATION OAKL	EX 205-1W-3/4N	COUNTY STATE
OLD OR NEW (Circle one)		
		"ì
CONTRACTOR A D DRLG RIGT 2	OWNER SAME	
TYPE OF JOB SURFACE	CEMENT	
HOLE SIZE /2/4 T.D. 228	_ CEMENT	
CASING SIZE 856" DEPTH 227	AMOUNT ORDERED	9 %/
TUBING SIZE DEPTH DRILL PIPE DEPTH	1 10 2 CBM 3 REC 2	.70 3 4
ORILL PIPE DEPTH TOOL DEPTH		
PRES. MAX MINIMUM	COMMON /70 SKS	@ 15 45 2626 50
MEAS LINE SHOE JOINT	POZMIX	@
CEMENT LEFT IN CSG. /5	GEL <u>3 SKs</u>	@ 2080 62 40
PERFS:	CHLORIDE 6 5K5	@ 58 48 349 36
DISPLACEMENT 13/2 RBL	ASC	_ @
EQUIPMENT		
		@ <u>RECEIVED</u>
PUMPTRUCK CEMENTER TERRY		@
# 422 HELPER WAYNE		
BULK TRUCK		® KCC WICHITA
347 DRIVER DARKEN		@
BULK TRUCK	****	
DRIVER	HANDLING 179 5Ks	@ 2 42 4296
	MILEAGE 104 PER SK/M	
REMARKS:		TOTAL 3825 70
280 Am Hock UP TO 87/8 TO BRE	: AL	101712
CERCULATE. 2:35 AM START CEMENT		CE
2145 AM START DISPLACEMENT. 255 AM DIUS DOW		
300 AM TRUCK RACKED UP. Job complets	DEPTH OF JOB	227
	PUMP TRUCK CHARGE	
	EXTRA FOOTAGE	@
SMENT STELL CIXC,	MILEAGE	@ 7 140 2
	- MANIFOLD	
THANK YOU		
		_@
CHARGE TO: SLAKES PEARS OIL CO, INC	<u> </u>	11-7
STREET		TOTAL//58
•	_	
CITYSTATEZIP	PLUG & FLOAT	EOUIPMENT
	1- SURFACE Plug	@ 68 7
	7-3WEPHOL THE	
		_@
To Allied Cementing Co., LLC.		@
You are hereby requested to rent cementing equipment		@
and furnish cementer and helper(s) to assist owner or		درو _ه
contractor to do work as is listed. The above work was		TOTAL 68 4
done to satisfaction and supervision of owner agent or contractor. I have read and understand the "GENERAL	•	
read and understand the General representation of the reverse side		
TEMING AND CONDITIONS Hater on the reverse side	TOTAL CHARGES	
$\mathcal{D}_{\mathbf{r}} = \mathcal{O}_{\mathbf{r}}$		
PRINTED NAME LOUIS KOBERTS	DISCOUNT	IF PAID IN 30 DAYS
(1) (1)		
SIGNATURE & LOUS KOLECT		
Th	artel	



24 S. Lincoln Street P.O. Box 31 Russell, KS 67665-2906

Voice: Fax:

(785) 483-3887 (785) 483-5566

Bill To:

Shakespeare Oil Co., Inc. 202 West Main St. Salem, IL 62881

KGQ

CONFIDENTIAL INVOICE

Invoice Number: 119163

Invoice Date: Jun 23, 2009

Page:

1

BEUEINED

JUL 1 J 2009

KCC WICHITA

Well File

CustomerID	Well Name# or Customer P.O.	Payment	: Terms
Shak	Ottley #2-15	Net 30	Days
Job Location	Camp Location	Service Date	Due Date
KS1-02	Oakley	Jun 23, 2009	7/23/09

Quantity	ltem	Description	Unit Price	Amount
180.00	MAT	ASC Class A	18.60	3,348.00
900.00	MAT	Kol Seal	0.89	801.00
121.00	MAT	CD-31	9.35	1,131.35
500.00	MAT	WFR-2	1.27	635.00
205.00	•	Handling	2.40	492.00
20.00	SER	Mileage 205 sx @.10 per sk per mi	20.50	410.00
1.00	SER	Production Casing	2,092.00	2,092.00
20.00		Pump Truck Mileage	7.00	140.00
		DEC.	0 2 2009	

ALL PRICES ARE NET, PAYABLE 30 DAYS FOLLOWING DATE OF INVOICE. 11/2% CHARGED THEREAFTER. IF ACCOUNT IS CURRENT, TAKE DISCOUNT OF

ONLY IF PAID ON OR BEFORE

Jul 23, 2009

Subtotal	9,049.35
Sales Tax	372.67
Total Invoice Amount	9,422.02
Payment/Credit Applied	
TOTAL	9,422.02

ALLIED CEMENTING CO., LLC. 043630

MIT TO P.O. B	OX 31					MAP	402SERV	ICE POINT:	
RUSS	ELL, KAN	NSAS 676	55			ſ	i GG	Dake	<u>.ey</u>
4 02-00	SEC.	TWP.	RANGE 32 ム	c	ALLED OUT	ON	LOCATION	JOB START	JOB FINISH
166-23-09 offley	/3		0	aKL	4			COUNTY	STATE
ASE	WELL#	245	LOCATION	<u> </u>	205 IW	<u> </u>	E1970	Logan	<u> </u>
.D OR NÉW Ci	rcle one)		•				. <u></u>		
or or	HAD)	0 . 4		OWNER .	5 9 1	~ e		
ONTRACTOR PE OF JOB		dion	Rig 1		OWINER S				
DLE SIZE 2	2000	T.D			CEMENT				
ASING SIZE	5/2		PTH 4472'		АМОДИТ О	RDER	ED <u>/80</u>	5KS AS	<u></u>
JBING SIZE			РТН		5-7 KO/	1-5 ea	al 3/4	of 190 0	0-31
RILL PIPE			PTH						
OL POT	collar		PTH 2/76					•	
RES. MAX			NIMUM		COMMON_		<u></u> .	_@ 	
EAS. LINE		SH	OE JOINT 42	<u>.52</u>	POZMIX _			_@	
EMENT LEFT II	N CSG.	42,5%			GEL _			_@	
RFS.					CHLORIDE			_@	·
SPLACEMENT	10	5.42	,		ASC <i>28</i>	10 3	55	_@ <i>!8,66</i>	3348,00
IST ETTE BITTE								_@	
	EQU	JIPMENT						_@	
					KOL-SAG	7	900#	@ -8 9	801,00
JMP TRUCK	CEMENT	ER A	odrew_		/10			@	
431	HELPER	K	211×					@	
ULK TRUCK					CD-31	1:	21-1	@ 9.35	1131,35
34)	DRIVER	Da	rrin					@	·
ULK TRUCK					WFR-	2.	500gc 6		635,00
	DRIVER				HANDLING	20	5 5%-5	@ 2,40	492,00
					MILEAGE _	10/5	Knile		410,00
	D F	MARKS:				_/	•	ТОТА	16817,35
_								tom	
			CWFR-2	<u>/3"</u>			0.775.7	ron.	
			e 30.5ks m	X			SERV	ICE	
			sh pumpan	<u>ط</u>	-di		1///22		
hes clean,	pisolac	e plug	play La	, ro	DEPTH OF	OB —	4470		2002 00
Float, hel	d.	200 Z	177 1400	<u> </u>					2012.00
and					EXTRA FO	OTAGE	=	_ @	- 1111
					MILEAGE_	20	mices		140,00
			1 als 4	174	MANIFOLD				
		7	nan J					@	
			_					@	
HARGE TO:	Chake	SPOOL	e oil						
HARGE IO	APTICAL PLAN	-						TOTA	L 2232.00
TREET									
	Or	ri a Gres	71D						
1TY	S	IAIE	ZIP			PLU	JG & FLOA	T EQUIPME	ENT
								@	
					-	. 			
o Allied Ceme.	nting Co.,	LLC.					. · · · · · · · · · · · · · · · · · · ·		
∕ou are hereby :	requested	to rent ce	ementing equipn	nent					
nd furnish cem	enter and	helper(s)	to assist owner	or			······	~	
contractor to do	work as i	s listed.	The above work	was					. •
lone to esticfed	tion and s	unervisio	n of owner agen	t or				TOTA	\L
ione to satistaci	ue rend on	d underei	and the "GENE	RAI					
CONTRACTOR. I DA	VE LEAU AL	ONICH II.~4	ad on the reverse	ماماء م	SALES TAX	X (If A	ny)		
LERMS AND C	אדומאטר	JSII GNU	ed on the reverse	o gruc.		ADCC	c		
	 -	0 1	122		TOTAL CH	AKUL	ن		
'RINTED NAMI	g] - '	C. L	AKSON		DISCOUNT			IF P.	AID IN 30 DAYS
VILLED MAINT	<u></u>	\cap							
1	7	2 N							
IGNATURE	1,	<. ya	Sor						



24 S. Lincoln Street P.O. Box 31 Russell, KS 67665-2906

Voice: Fax:

(785) 483-3887 (785) 483-5566 CONFIDENTIAL

JUL 1 0 2009

KGO

INVOICE

Invoice Number: 119189 Invoice Date: Jun 25, 2009

Page: 1

> RECEIVED UL 1 3 2009

KCC WICHITA

Bill To:

Shakespeare Oil Co., Inc. 202 West Main St. Salem, IL 62881

Well Fils Well Name# or Customer P.O. **Payment Terms** Customer ID Ottley #2-15 Shak Net 30 Days **Job Location** Camp Location Service Date **Due Date** Oakley KS1-04 Jun 25, 2009 7/25/09

Quantity	Item	Description	Unit Price	Amount
210.00	MAT	Class A Common	15.45	3,244.50
140.00	MAT	Pozmix	8.00	1,120.00
24.00	MAT	Gel	20.80	499.20
496.00	SER	Handling	2.40	1,190.40
20.00	SER	Mileage 496 sx @.10 per sk per mi	49.60	992.00
1.00	SER	Port Collar	1,185.00	1,185.0
20.00	SER	Pump Truck Mileage	7.00	140.00
			JUL 0 9 2009	
ALL DRICES A	RE NET. PAYABI	LE Subtotal	1	8,371.

ALL PRICES ARE NET, PAYABLE 30 DAYS FOLLOWING DATE OF INVOICE. 11/2% CHARGED THEREAFTER. IF ACCOUNT IS CURRENT, TAKE DISCOUNT OF

\$ 1674 23

ONLY IF PAID ON OR BEFORE

Jul 25, 2009

Payment/Credit	Applied	
Total Invoice Am	······································	8,677.51
Sales Tax		306,41
Subtotal		8,371.10

ALLIED CEMENTING CO., LLC. 043556

	000	SERVICE POINT:			
REMIT TO P.O. BOX 31 RUSSELL, KANSAS 67665		JUL 1 0 2009 DARINGES			
	CALLED OUT	ONEOCATION	JOB START	JOB FINISH	
Odley		17:00,00	COUNTY	STATE	
LEASE WELL # 4-15 LOCATION ONE	ey 208.	- (w- n	LOSAN)<<	
OLD OR NEW (Circle one)					
CONTRACTOR Wild west will Sension	OWNER	Shalless	eake		
TYPE OF JOB PONT COLLAR					
HOLE SIZE T.D.	CEMENT			~ *	
CASING SIZE 5 1/2 DEPTH	AMOUNT	ORDERED 45		_	
TUBING SIZE 23/8 DEPTH 2166'		10-coal (U3-2 3.	50569)	
DRILL PIPE DEPTH	500	holls and	, O 4		
TOOL DEPTH	COMMON	210	15 45	- 2046 5	
PRES. MAX MINIMUM MEAS. LINE SHOE JOINT	COMMON_ POZMIX _	140	-@-15	1170	
CEMENT LEFT IN CSG.	GEL _	24	@ 205°	4992	
PERFS.	CHLORIDE	· · · · · · · · · · · · · · · · · · ·	_ @ 		
DISPLACEMENT 8.44 885	ASC	·	_ @		
EQUIPMENT	Hulls	••••	@3(
PUMPTRUCK CEMENTER Tuzzy					
# Ladra HELPER 423			@	,	
BULK TRUCK					
Tony DRIVER 394					
BULK TRUĆK			_م		
DRIVER	HANDLING		@ <u>2</u>	1190	
	MILEAGE .	11045K4mil	e	992	
REMARKS:			TOTAL	7096-	
	_	SERVI	CE		
Pump 350 55 69/35 8900 1/4+6	510-30x1				
Displace 8 PALS Close 1001	DEPTH OF	JOB		20	
Aregs to 1000%. Run 4 545		CK CHARGE		1185	
reverge the clown coment	EXTRA FO	OTAGE	@		
did disculate about 305Ks	MILEAGE_	20	_@ @	14000	
Jub complete @ 5:00pm	_)			
- Unants Wazzy			@		
•	<u> </u>		@		
CHARGE TO: Shate speaker or la Gas	•			20	
, ·			TOTAL	1325	
STREET			-	 	
CITYSTATEZIP					
	PLUG & FLOAT EQUIPMENT				
			@_ <u>.;</u>		
Fo Allied Cementing Co., LLC.			@		
You are hereby requested to rent cementing equipment			_ @ @		
and furnish cementer and helper(s) to assist owner or			<u> </u>		
contractor to do work as is listed. The above work was			· ·		
done to satisfaction and supervision of owner agent or	•		TOTAL		
contractor. I have read and understand the "GENERAL	aa.	7 /1C A			
TERMS AND CONDITIONS" listed on the reverse side.	SALES TAX	(If Any)			
,	TOTAL CHA	ARGES			
PRINTED NAME T.C. LARSON	•				
'RINTED NAME	DISCOUNT	·	IF PAI	D IN 30 DAYS	
$\neg \circ \lor $					
SIGNATURE I.C., Jaison.					